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16, If ABCD is a parallelogram and AC and BD-are its diagonals, then
AC + BD is: e
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answer the following ques
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Find eritical point. b il
fal Use second derivative test to find the value of b for which cost
of constructing the pool is minimum. What is the minimum
cost: of construetion of the pool 7
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(iil) (b} Use first derivative test to find the depth of the pool so that
cost of construction ig minimum. Also, find relation hetween x
and h for minimum eost.

Case Study -3

In an agrieultural ingtitute, scientists do experiments with varieties of
seeds to grow them in different environments to produce healthy plants
and get more yield.

A scientist observed that a particular seed grew very fast after
germination. He had recorded growth of plant since germination and he
said that its growth can be defined by the function

flx) = %x‘*—axﬁnsna. 0<x<10

where % is the number of days the plantis exposed to sunlight.

On the basis of the above information, answer the following questions :
(i) What are the eritieal points of the function fix) 7

(ii) Using second derivative test, find the minimum value of the

function.
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